Assignment two: 40 homework points. 
Continue to make your review cards for exams.  Put species names on one side, symptoms, vectors or secondary hosts, etc. on the other side.   Review these once a week and you will find studying for any test becomes a lot easier. 
Please make sure to recopy the questions and your answers on a separate doc for homework.  Only include those parts of the questions that will count for homework points or parts in red. 

From reading   
1.   Why did the big break for parasites come when humans begin to build settlements and stay in one place?  .  

2.  a. Describe the life cycle of the parasite, which caused so much disease, in the town of Jericho. 
b. How did Jericho’s geography support transmission of the parasite?
c. How did Joshua’s actions eradicate the parasite?   8 pts.

3. Answer part c for homework.  a. Compare the effects of the building of the Akosombo and Kpong Dam on the prevalence of diseases caused by Schistosoma haematobium.  Include their effects on humans or domestic animals, and reasons why (given their life cycles), this parasite increased in abundance after these dams were built. 

b.  How do the various species of Trypanosoma discussed in this chapter vary in their effects on humans?  Make your own comparative table. 

c. How did early explorers of Africa spread sleeping sickness? Include a description of the Tsetse belt in your answer.  6 points.

4.   Who had the advantage, with regard to contracting malaria, early in the Vietnam conflict between the US and Viet Cong? Defend your answer.  Do we still use medicines developed at this time to combat malaria today?

5. On his second voyage Captain Cook contracted an intestinal blockage, which he survived.   To what parasite do some medical historians attribute such a blockage?  Briefly, discuss the evidence for this assumption (distribution of the parasite, etc.) in your answer.

6. Examine the table below and then determine whether the statements below the table are true or false.  Correct the false statements.  This is a homework question. 

Table one. Prevalence and intensities of Haematoloechus spp. in infected frogs.
Prevalence =percentage of infected frogs.   Intensity =number of lung flukes per infected frog.  Mean intensity = arithmetic mean of parasites in infected frogs.

	
Frog species
	Fluke species
	No.
Examined
	No. Infected
	Prevalence
%
	Mean intensity
	Highest intensity

	Rana clamitans
	H. longiplexus
H. complexus
	95
	40
	42
	8.9
	71

	Rana catesbeiana
	H. breviplexus
H. longiplexus
H. complexus
	63
	24
	38
	6.3
	56

	Rana utricularia
	H. complexus

	13
	7
	54
	13.6
	33


Adapted from C. Whitehouse. 2002. Pro. Ind. Acad. of Sci. 1:67-76.

True or False? Correct the false statements. 9 pts. 
a. All three-frog species were infected with the same three species of parasites.   
b.  Rana utricularia exhibited the highest percentage of individuals infected. 
c. Rana clamitans had individuals exhibiting the highest number of lung flukes for an individual and the highest mean number of flukes per individual. 

7.   Consider this example.  Each sample contains 10 individuals.  The number of parasites found in each individual is listed, commas separate numbers for individuals.
Sample A: 0, 0, 0, 0, 0, 0, 0, 0, 10, 30
Sample B: 0, 2, 2, 2, 2, 2, 3, 3, 4, 4
[bookmark: _GoBack]Answer a and b for homework.  12 pts. 

  a. Determine prevalence for each sample, use the definition given in question six.  b. Determine mean intensity per sample, use the definition given in question six.   
 b. If the paper only records prevalence and intensities as Whitehouse’s paper, which population would you have to conclude, carried the largest parasitic load? Defend your answer.
c. Would including a distribution curve (number of parasites on the Y axis and number of frogs having Y parasites on the X axis) or median intensity be a better indication of parasitic load for these two populations?
d. Consider how difficult it may be to determine the true effect of parasites on a host's population, even with numbers.  What would happen to our estimates of parasite loads if deformed frogs, (these parasites cause malformation in number and structure of legs), are eaten preferentially by herons?


8. From the report on multiple infections in frogs. (5 pts.)  Answer c for homework.
a. What is the effect of the flatworm parasite on frogs?  How could this effect explain in certain areas declines in the frog populations? 
B. How do parasite infections affect competition in anoles. 
 b. What effect does housing multiple parasites have on parasite load in frogs?
c. What effect did order of introduction of species varying in virulence have on disease rates?
d. How can the presence of multiple species of host affect the degree of infections or virulence in hosts?

9. From the paper on the ecological consequences of parasitism.  We have yet to appreciate the importance of parasites on whole ecosystems.  Ecologists are just beginning to look at the interactions of parasites on microfauna in hosts, and the influence of multiple infections on hosts, let alone the role parasites play in general in ecosystems. 
Answer the following questions to indicate the potential impact parasites can have on ecosystems. 
a. When are parasites prey and why is this important to consider?   Consider their effects on the behavior of hosts in your answer. 
b. Yearly productivity of trematode parasites was higher than the biomass of birds in one ecosystem.   True or false 
c. How did parasites affect competition between two anole species?
d.  How did parasite elimination on keystone urchin species affect coral reef systems?
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